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7. JP, KP, and HP are angle bisectors of AHJK.

Geometry CC

6.L-6.4 Quiz REVIEW

Section 6.1

Use the diagram tor #L-2

1. Given that mZABD = 16o, find m/ABC

Eu--E{+ + l.th

= (z-r+\
*' 

E,

Section 6.2

6. ED, FD, and GD are perpendicular bisections

of AABC. Find BD.

AD=c-b -JBEi
t+=11 +d

rnIABL = Lm L,ceU =z(t)
2. Given thrt rl4l}=lryf rnd -z@. $o , find the mZABC.

Lx+lL --(ax -tg ryrl-ABl:4lBb + Ac-tsD
3o=q1 =*+La

Use the diagram for #3-4 ?'5 =X mlABc"=m
3. Given that FH is the perpendicular bisector of EG, EF = 4y - 3., and FS;.1Qg.J7, find FG. . -t*qb-, = bD -Za + Jl =2-.tr+:21 trG=t r!3-L& ot''fit4"''o
4. Given that EF= 1.0.6 ,EW,anOd.filgls. rFc- ="51 E rt.rlffi. 

G

It

g6 z B.t-
5. Write an equation in point-slope form, y - yr= m(x - x1), for the perpendicular bisector of the segment

with endpoints X(7, 9) and Y(-3, 5)

-i(^-z)t-1 =

Find the distance from P to HK. ;i
P+= J t!-= ? +- HT{PffiEl *fi r*3:z:13 l/ffiS,

utu

Section 6.3

Use the figure for #8-10. tn AABC , AE = t2, DG = 7, and@p. Find each length.

8. AG

AG= 3r=
Ae-'--Itrr) --a

9. GC 10. BF

T;,?3,i Bh=! uF
Zl =c-;+qc=?3cD- 1= 4 er

T;Ji*e') ta.s Zvr



Geometry CC

6.1.-6.4 Quiz REVIEW

11. AMNP has vertices M(-4,
11

Name:
Date: Period:

-5

T
(-r, -'dx. !r

b+2-: ?(r) + 2+L= r.3

'* rf=-'.',o*

r
FD =t*e-+ ?-:{-ae

L4. mIBFE

Lltlo

15. Find the value of n.

44-

n+tq=L(a",+tz-)

-2), N(6, -2), and P(-2, 10). Find the coordinates of the orthocenter.

Elo?o ae PN

m = lo-(-z\ -lz - -?
-L-b -g 2

4 stope--'-z7-

Section 6.4

Use the diagram tor #I2-L4. Find each measure.

T2, ED

tD=!ec > GD:t[z-o)
6p=ts

13. AB

1,6. LXYZ is the midsegment triangle of AWUV. What is the perimeter of LXYZ.

XY --I LL\^s

XY=Zt.)

Xl = ivuo
z-r-=+ts\

:fl_rs I

Po€AXY]={.S+3+Ll

, Pt'.-2-in Fz)

b -(-z\ =+t* -G$)
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z\ -3 1 ,

X=-L

n+lt{=1.5n+b


